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INSTRUCTIONS:

ANSWER ANY FOUR (4) QUESTIONS INCLUDING QUESTION NO. 1 AND 2.
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Answers for question No. 1 and 2 should be provided in the space given in the question
paper.
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1. (I) Define the term “ecosystem”
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(I1) What are the three(3) major abiotic components of an ecosystem ?
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{I1I) “Water is essential for all life forms on earth” support this statzment giving
reasons.
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(IV) Explain the different roles played by producers, consumers and ce:omposers in an
ecosystem. :
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(V) Discuss the terms ‘net primary production’ and ‘gross primary production’.
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2. (I) Draw a flow diagram of the Carben Cycle to show all the steps involved.
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(1) Explain the effects of human activities on the natural Carbon Cycle.
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(IIT) Describe the different ways of fixing atmospheric nitrogen within the nitrogen cycle.
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(IV) What are the human activities that disturbed the balance of the Nit.: Jgen Cycle?
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(V) Name the blogeochemlcal cycle which has no gaseous or atmosph:-ic pl 1a<e\ ’”
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3. (a) Explain the Greenhouse Effect associated with global warming.
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(b). What are the steps taken to reduced the greenhouse effect at international level?
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4. (a) What is meant by the term ‘population’ in ecologically.
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(b) How do you apply census and estimates techniques to determine the size of a
population? Explain with suitable examples.
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5. {a) Describe the three types of Tropic Pyramids used in ecology.
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(b) Explain the reasons why the biomass of primary consumers is cor.siderably less

than the biomass of primary producers.
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6. Write short notes on any two(2) of the following.
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